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Handout — Exponentials and Logs 7 e &Y l
Dusty Wilson
Math 115

Page_‘ ! Sf:rh;‘%l,,c Fourcdared .

Pc-gm 2 #3 d,.c,llq.v%.'ua,
lﬂg,b('}z) + )Q?HQ-L[O) + ]'o?e (e/z"\ g P,_"}_"’___p.

2.+C9+-3{: o ‘157‘/

Solution: { 2

b L ]
2. Write in terms of simpler logarithms: log, ——2%
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Solution:

1. Simplify: log39+log41+ln\/2
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3. Find x: 2log, x=1og, 2 +1og,(4~-x)
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5. Suppose $5000 is invested at 5.5% compounded continuously. How much is in the account
after 8 years?
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6. Evaluate log, 9.8765 to 4 decimal places, and show how you got it.
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7. Find the inverse of cosh(x)= €12 . Arethere any restrictions on cosh(x) and cosh *(x)?
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8. Prove that Iog,,(x) rlogb(x) What are the assumptlc;ﬁé wehvist ma“féqg or(ﬁr for“fﬁs _w:; .
proof to be valid?
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